ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN



Taxpayer Name:BLAZE CARRIER INCAccount Number:201-914816

Account Type: IFTA Carrier Tax

Period Begin: April 01, 2025

Period End: June 30, 2025

Return Type: Original

Due Date: July 31, 2025

Submitted: 7/15/2025 2:07:49 PM **Remaining Due:** \$861.38 **Confirmation #:** 0-050-271-923

Summary	
1. Subtotal Amount Due or Credit	\$861.38
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$861.38

Account Number: 201-914816
Filing Period: June 30, 2025

Jurisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Total
Arizona		2. Diesel	18,238	18,238	7.26	2,512	3,513	-1,001	0.2600	-\$260.26	\$0.00	-\$260.26
California		2. Diesel	28,333	28,333	7.26	3,903	2,798	1,105	1.0230	\$1,130.42	\$0.00	\$1,130.42
lowa		2. Diesel	313	313	7.26	43	0	43	0.3250	\$13.98	\$0.00	\$13.98
Illinois		2. Diesel	345	345	7.26	48	0	48	0.7360	\$35.33	\$0.00	\$35.33
Indiana		2. Diesel	411	411	7.26	57	117	-60	0.5900	-\$35.40	\$0.00	-\$35.40
Missouri		2. Diesel	377	377	7.26	52	122	-70	0.2700	-\$18.90	\$0.00	-\$18.90
Nebraska		2. Diesel	856	856	7.26	118	117	1	0.3040	\$0.30	\$0.00	\$0.30
New Mexico		2. Diesel	10,854	10,854	7.26	1,495	1,169	326	0.2100	\$68.46	\$0.00	\$68.46
Nevada		2. Diesel	538	538	7.26	74	126	-52	0.2700	-\$14.04	\$0.00	-\$14.04
Ohio		2. Diesel	201	201	7.26	28	0	28	0.4700	\$13.16	\$0.00	\$13.16
Texas		2. Diesel	12,950	12,950	7.26	1,784	2,083	-299	0.2000	-\$59.80	\$0.00	-\$59.80
Utah		2. Diesel	572	572	7.26	79	50	29	0.3850	\$11.17	\$0.00	\$11.17
Wyoming		2. Diesel	877	877	7.26	121	217	-96	0.2400	-\$23.04	\$0.00	-\$23.04
			74,865	74,865		10,314	10,312	2		\$861.38	\$0.00	\$861.38

ONLINE SERVICES FILING RECORD:



Taxpayer Name:BLAZE CARRIER INCAccount Number:201-914816

Account Type: IFTA Carrier Tax Period Begin: January 01, 2025
Period End: March 31, 2025

Return Type: Original Due Date: April 30, 2025

Remaining Due: \$980.40

Summary	
1. Subtotal Amount Due or Credit	\$980.40
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$980.40

Account Number: 201-914816

Filing Period: March 31, 2025

Jurisdiction (Summary											
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Tota
Arkansas		2. Diesel	569	569	7.35	77	0	77	0.2850	\$21.95	\$0.00	\$21.95
Arizona		2. Diesel	12,514	12,514	7.35	1,703	2,384	-681	0.2600	-\$177.06	\$0.00	-\$177.06
California		2. Diesel	21,329	21,329	7.35	2,902	1,680	1,222	1.0230	\$1,250.11	\$0.00	\$1,250.11
New Mexico		2. Diesel	7,145	7,145	7.35	972	1,373	-401	0.2100	-\$84.21	\$0.00	-\$84.21
Oklahoma		2. Diesel	526	526	7.35	72	213	-141	0.1900	-\$26.79	\$0.00	-\$26.79
Tennessee		2. Diesel	1,010	1,010	7.35	137	195	-58	0.2700	-\$15.66	\$0.00	-\$15.66
Texas		2. Diesel	1,573	1,573	7.35	214	232	-18	0.2000	-\$3.60	\$0.00	-\$3.60
Virginia		2. Diesel	795	795	7.35	108	107	1	0.3180	\$0.32	\$0.00	\$0.32
Virginia	Surcharge	2. Diesel	0	0	0.00	108	0	0	0.1420	\$15.34	\$0.00	\$15.34
			45,461	45.461		6.293	6.184			\$980.40	\$0.00	\$980.40

ONLINE SERVICES FILING RECORD:



Taxpayer Name:BLAZE CARRIER INCAccount Number:201-914816

Account Type: IFTA Carrier Tax Period Begin: October 01, 2024
Period End: December 31, 2024

Return Type: Original Due Date: January 31, 2025

Remaining Due: \$582.78

Summary	
Subtotal Amount Due or Credit	\$582.78
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$582.78

Account Number: 201-914816

Filing Period: December 31, 2024

Jurisdiction :	Jurisdiction Summary											
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Total
California		2. Diesel	12,077	12,077	7.44	1,623	864	759	1.0230	\$776.46	\$0.00	\$776.46
Arizona		2. Diesel	8,162	8,162	7.44	1,097	1,856	-759	0.2600	-\$197.34	\$0.00	-\$197.34
New Mexico		2. Diesel	5,919	5,919	7.44	796	390	406	0.2100	\$85.26	\$0.00	\$85.26
Texas		2. Diesel	4,516	4,516	7.44	607	1,015	-408	0.2000	-\$81.60	\$0.00	-\$81.60
			30.674	30.674		4.123	4.125	-2		\$582.78	\$0.00	\$582.78

ONLINE SERVICES FILING RECORD:



Taxpayer Name: BLAZE CARRIER INC **Account Number: 201-914816**

Period Begin: July 01, 2024 **Account Type:** IFTA Carrier Tax

Period End: September 30, 2024 Return Type: Original **Due Date:** October 31, 2024

Remaining Due: \$729.56

Summary	
Subtotal Amount Due or Credit	\$729.56
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$729.56

Account Number: 201-914816

Filing Period: September 30, 2024

Jurisdiction S	ummary											
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Tota
California		2. Diesel	13,451	13,451	7.31	1,840	887	953	1.0230	\$974.92	\$0.00	\$974.92
Arizona		2. Diesel	7,713	7,713	7.31	1,055	2,216	-1,161	0.2600	-\$301.86	\$0.00	-\$301.86
New Mexico		2. Diesel	6,026	6,026	7.31	824	0	824	0.2100	\$173.04	\$0.00	\$173.04
Texas		2. Diesel	12,074	12,074	7.31	1,652	2,236	-584	0.2000	-\$116.80	\$0.00	-\$116.80
Louisiana		2. Diesel	438	438	7.31	60	168	-108	0.2000	-\$21.60	\$0.00	-\$21.60
Mississippi		2. Diesel	229	229	7.31	31	0	31	0.1800	\$5.58	\$0.00	\$5.58
Alabama		2. Diesel	279	279	7.31	38	0	38	0.3000	\$11.40	\$0.00	\$11.40
Florida		2. Diesel	690	690	7.31	94	0	94	0.3947	\$37.10	\$0.00	\$37.10
Georgia		2. Diesel	436	436	7.31	60	149	-89	0.3620	-\$32.22	\$0.00	-\$32.22
			41.336	41.336		5.654	5.656	-2		\$729.56	\$0.00	\$729.56